
Математика





От пристани 
отошло 4 лодки. В 
каждой лодке по 5 
человек. Сколько 
человек на лодках?



Сколько горошин в 
3 таких стручках?



Чтобы умножить 
число на 10, 

можно к этому 
числу приписать 

справа ноль.





При делении 
круглого числа 

на 10, у делимого 
надо отбросить 

один ноль.
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40 : 10 = 4 (п.)
Ответ: 4 пирожка.
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4 · 10 = 40 (п.)
Ответ: 40 пирожков.
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40 : 10 = 4 (т.)
Ответ: 4 тарелки.
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40 : 4 = 10 (т.)
Ответ: 10 тарелок.



Чтобы умножить 
число на 10, 

можно к этому 
числу приписать 

справа ноль.



При делении 
круглого числа 

на 10, у делимого 
надо отбросить 

один ноль.


